CHW 3M Emergence of Agriculture

A few extra points about hunter-gatherer lifestyle:

· They had to adapt to many different conditions

· Life was more communal – there was no concept of private life

· Low birth rate, stable population

Advantages of Neolithic Life:

· _______________ dwellings are better (rise of architecture)

· Opportunity for a wider range of tools because they don’t have to be ____________________

· ________________ of tasks is based on skills so people can spend more time doing what they’re good at

· __________________ now has meaning (accumulate and store things of value, even knowledge)

word list: specialization, impermanent, portable, wealth, permanent 

Disadvantages of Neolithic Life:

· Dependent on a few _______________, whereas hunter-gatherer lifestyle had many

· Vulnerable to _______________

· Dependent on _________________ time (if it’s a bad one that’s it for the year)

· A lot to do to protect the crops: store; protect from moisture, vermin, thieves; distribute

· Requires intense physical _________________

word list:  labour, harvest, weather, plants 

Social Consequences of Agriculture:

· Accumulation of food and wealth leads to __________________

· Therefore, ______________ and other protective measures were created (e.g., Jericho, a walled city 9000 years ago)

· The more complicated lifestyle requires cooperation and coordination therefore we see the organizing of decision-making (_________________)

· Specialization of tasks led to inequalities and hierarchies based on wealth, status, power. ___________________ developed.

word list: government, classes, walls, theft
How did these factors contribute to the rise of civilization?

